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Q.1 Speed of light in vacuum is 3 × 108 m/s. The range of wavelength of visible light is 4000 Å − 7000 Å. 

Then, what will be the range of frequency of visible light? 

(A)2.14 × 1014  Hz − 7.5 × 1014  Hz (B)4.28 × 1014  Hz − 7.5 × 1014  Hz  

(C)4.28 × 1014  Hz − 5 × 1014  Hz (D)&4.28 × 1015  Hz − 7.5 × 1010  Hz 

 

Q.2 A light of frequency 6 × 1014  Hz and velocity 3 × 108 m/s in air is incident on a glass slab of density 

2500 kg/m3. Frequency of light in the glass is:(Consider density of air as 1.25 kg/m3) 
 

 
(A)6 × 1014  Hz (B)2.5 × 1011  Hz (C)3 × 1011  Hz (D)3.33 × 108 Hz 

 

Q.3 How does light travel? 

(A)In a straight line until it hits an object.  

(B)Light does not travel. 

(C)By reflecting through space until it is transmitted. 

(D)By refracting through space until it is absorbed. 

 

Q.4 Light rays are disappearing into a surface. What is happening to the light rays? 

(A)Transmission (B)Reflection (C)Absorption (D)Refraction 

 

Q.5 An image can be seen in a shiny surface when light is 

(A)Reflected (B)Refracted (C)Transmitted (D)Absorbed 

 

Q.6 Which of these best explains why a student can see their reflection in a computer screen when the 

screen is turned off? 

(A)The glass allows light to be transmitted through it. 

(B)Smooth, shiny objects reflect a great amount of light. 

 (C)Black objects absorb most of the light striking them. 

(D)Computers produce light when they are being used. 

 

Q.7 A ray of light is incident on a circle x2 + y2 = R2 polished from inside as shown in the figure. Find the 

co-ordinate of x and y of the point at which the incident ray should fall such that the reflected ray 

becomes horizontal after reflection. 
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Q.8 A ray of light is incident on a circle x2 + y2 = R2 polished from inside as shown in the figure. Find the 

co-ordinate of x and y of the point at which the incident ray should fall such that the reflected ray 

deviated by 60∘ after reflection. 
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Q.9 A ray of light is incident on a parabola y = 4x2 polished from inside as shown in the figure. Find the 

co-ordinates x and y of the point at which the incident ray should fall such that the reflected ray 

becomes horizontal after reflection. 

 

(A)(x, y) = (
1

8
,

1

16
) (B)(x, y) = (

1

4
,

1

8
) (C)(x, y) = (

1

16
,

1

64
) (D)(x, y) = (

1

2
,

1

4
) 

 

Q.10 When a student looks into a plane mirror, she sees a virtual image of herself. However, when she 

looks into an unpolished glass surface, the image is not seen clearly. Which light phenomenon is 

responsible for the image not being seen clearly? 

(A)Regular reflection (B)Irregular reflection (C)Polarization (D)Resonance 
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ANSWER KEY 

 

Q. 1 2 3 4 5 6 7 8 9 10 

Sol. (B) (A) (A) (C) (A) (B) (B) (C) (A) (B) 

 


